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1MIIEESS 5,000 5,000 0
O=23od Tz 23l 5,000
405 XHoHE S HI 10,000 0 10,000
01 AL ESFH S 10,000 0 10,000
O=sto & =28 #¢ 10,000
FURMXNAEH 29 3,600 0 3,600
201 et 3,600 0 3,600
01 At 22l 1,200 0 1,200
OFUXXIHE 2tel 1,200
02 =224l 2,400 0 2,400
OFXXHH 29 2,400
A2 E THOH Ol e 30,000 20,000 10,000
401 Al HIZ 201 8] 30,000 20,000 10,000
01 A& HI 29,676 19,784 9,892
OLA2 THOH Ol AL 30,000,000%98.92% 29,676
03 AIE 2 THHI 324 216 108
OL72 THOH Ol AL 30,000,000%1.08% 324
HY2FZH (HEH) 62,980 66,730 A 3,750
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n0

Kio

Hl w

A 3,750

A 3,750

A3,750
AN 3,750

H3r
Wikd
RIS

66,730
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24,330
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4,000

31,200
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Off &t 24
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20,580
16,580
11,664
2,916
2,000
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25,200

10,200
6,600
6,600

600
600
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N = 0l & At & Ml A

SA: 2R
M. e KK UWEHD 2=
ool UXE BHMHIA B (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
2 & H 249,534 233,012 16,522
2&8H ZEHXX UERKIA 2= 195,658 173,286 22,372
Z8H HAHHH A 2 195,658 173,286 22,372
HHANH A 229 58,576 58,424 152
201 et d| 57,976 57,824 152
01 AR 22l ] 8,650 8,636 14
O&EAX JIAF S| 7,000 x250 1,750
OFIIAES U URAS2 900
OMBII 89 AZE 24| 6,000
02 E2=2=24%H| 49,326 49,188 138
OARA BESHA, SSAHSIAE &IIQ=2
400,000& ~12& 4,800
OBANLE 200,000 =53] 1,000
OJtgs dIIR=2 7,100€ x305S5 x12& 25,986
OXNsSZHUIAIE &KX 22l 110,000& ~12& 1,320
O22ars+HE 300
ORHE2 ¥52=2 125,000 x12& 1,500
OMIRA S0 1,500
o&Exg A2l 3,500
OFAMXE S22l 9,000
o= 35,000& ~12& 420
301 LBt A= 600 600 0
09 SHAIAHI E A2 600 600 0
OZHEHSG & ASSHA =4 600
ZF0lmHol MetstA M 8,082 10,862 AN2,780
101 2121 H] 5,582 8,362 N2,780
04 JI2tHIZ22NEE S 5,582 8,362 AN2,780
OS4atZ2 HH| o2 2,918
OAMHE HEA o2 37,000& x6H x12& 2,664
206 M = H| 2,500 2,500 0
01 X2 Hl 2,500 2,500 0
OZ2 =4 Mzl 2,500
JHolollet =0l=& o2& 99,000 84,000 15,000
201 2t Ay 4,000 4,000 0
01 AP 22| d| 4,000 4,000 0
OMdioeg & =7 &4 X = 4,000
401 Al EHI L 204 95,000 80,000 15,000
01 Al&H| 94,136 79,136 15,000
OXII0tE s2Z&Z2AF 10,000, 000& *98.92% 9,892
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2H: 2T
M AAH HFOHAX WEHIT ==
el ATE HHAHIA 25 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJt= =2 HHISAt 10,000, 000& %98.92% 9,892
HR0tS =2 EHISA
20,000,000& %98.92% 19,784
O2X0te sZZZ3 A 10,000,000 «98.92% 9,892
O0lZ20ts 2LE=HIEHI ALY
10,000, 000& *98.92% 9,892
OotZ o2t == EHISAH
20,000,000& %98.92% 19,784
OMStMEHCCTY & X 15,000
03 Al S THHI 864 864 0
O&DI0E sZ2ZF S A 10,000,000& *1.08% 108
OJt= =2 HHIZA 10,000, 000% *1.08% 108
H20t2 Hi+=2 HHISA
20,000,000 *1.08% 216
EX0E S ZEZSA 10,000,000& 1.08% 108
O0l20t2 2FF=HFHIAY
10,000,000& *1.08% 108
OGtZE Dtsetd =2 HHIZA
20,000,000& =1.08% 216
22 THOH ol &2 30,000 20,000 10,000
401 AIEHI L 2CHEI 30,000 20,000 10,000
01 A& tl 29,676 19,784 9,892
OL72 THOH Ol AL 30,000,000& *98.92% 29,676
03 A& S THHI 324 216 108
OL7A2 THOH Ol 2 AL 30,000,000& =1.08% 324
HYR2IZH (ZEH) 53,876 59,726 A5,850
Jl23dl 53,876 59,726 A5,850
Z&H J|23H| 53,876 59,726 A5,850
201 LBt 15,636 21,486 5,850
01 At 22l 12,636 18,486 A5,850
OgHd ge=a 10,136
OHE ARFX(SHI) 2,500
02 =224l 3,000 3,000 0
OFAMNRI 2 2 3,000
202 04l 27,120 27,120 0
01 = LH o4 1l 3,120 3,120 0
OHE gR=2 3,120
02 M| 24,000 24,000 0
og¥ 200,000& x1H =123 2,400
OfHZ0lct 150,000& x12H 128 21,600
203 R =&l 10,120 10,120 0
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H3r
Wikd
RIS
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N = 0l & At & Ml A

20154

H
o
2
>
ne
o
ton

S R=Pl

M GxdH HFOHAUX WERZD 2=
X

IMHIA 23St

= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET

gXH 245,567 207,789 37,778

SX8H FHAX WERZT 5 194,743 151,065 43,678

SXH dFAHA 2st 194,743 151,065 43,678

HHMEIA 222 59,763 57,526 2,237

201 Let24dy] 59,163 56,926 2,237

01 At 2teltl 8,200 7,000 1,200
OMEIIDl 28 4235 7¢ 7,000
OFIIUHEZ L MU2FRER 1,200

02 2324l 50,963 49,926 1,037
OF At =H| 1,200
OMEA HIIRS 500,000 122 6,000
OXtzs diles 7,300 +288& 128 25,229
O=Xaz M3 400,000& x12& 4,800
O=Xsgl2 24l 500,000& 14 500
=23 40,0003 <128 480
OXts3HIAE A2 88,000& »12& 1,056
ONWAIEZ 16,500& 128 198
SEE €523 150,000& =12 1,800
OANR RFUH 5,000
OFAL HItMFH =2 100, 000 & »22] 200
OozExteg sA2el 4,500

301 et d=s 600 600 0

09 SALAHIEAS 600 600 0
OZH L3S ASAUM =X 600

FoEol MEsH A 5,980 9,539 A 3,559

101 @124 dl 2,980 6,539 A 3,559

04 JI2ZHHZ2XREES 2,980 6,539 A 3,559
OBZZH R 2,000
Ot =HIIl 18 97,9503 x5 *23] 980

206 M= Hl 3,000 3,000 0

01 =4l 3,000 3,000 0
ZAZXY W2 7Y 3,000

THoH Ol ==0l=3& ofl & 99,000 84,000 15,000

201 Lt 4,000 4,000 0

01 At 22l 4,000 4,000 0
OXoll Ol & =7 HHl X2 4,000

401 AIEHI L 2] 95,000 80,000 15,000

01 A& tl 94,136 79,136 15,000
O=& =2 &l 20,000,000& *98.92% 19,784
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fAM: EXH
M dxH HFHAX WEHIT ==
S

Helr 9x1¢ S A 25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OotE #Il= =2 Fl
20,000,000& %98.92% 19,784
Oxg ¢t&s s22H 20,000,000& %98.92% 19,784
Og& =2 & Z A 10,000,000 «98.92% 9,892
O=% alcls s22 %

10,000, 000& *98.92% 9,892
O otMETHCCTV & X 15,000

03 Al S THHI 864 864 0
OMdHoe =0=RcHZ 80,000,000 *1.08% 864

28 THoH ol 2 30,000 0 30,000

401 Al HI K 201 I 30,000 0 30,000

01 A& HI 29,676 0 29,676
OL72 THOH Ol AL 30,000,000& %98.92% 29,676

03 A& =2 I 324 0 324
OL72 THOH Ol AL 30,000,000& =1.08% 324

HY2IZH (EXH) 50,824 56,724 25,900

Jl23&dl 50,824 56,724 25,900

SXIH JI23l 50,824 56,724 25,900

201 et 14,664 20,564 25,900

01 At 22l 11,664 17,564 A5,900
OHE g2=&4 9,332
O8A ARFA(SHI) 2,332

02 2324l 3,000 3,000 0
OFEAIRA & 2e] 3,000

202 Odl 25,080 25,080 0

01 = LHA YI 2,880 2,880 0
Oogd gR=d 2,880

02 N 22,200 22,200 0
ogd 200,000& x1H x123 2,400
OfHZ 0lct 150,000& x11H 128 19,800

203 R =&t 10,080 10,080 0

01 1228 YR =4 6,600 6,600 0
oJza2d 6,600

02 et S =AY 480 480 0
Otk 40,000& 129 480

04 FN2ELSZ=TH| 3,000 3,000 0
OFRNE2Y 250,000 128 3,000

405 TtabF S| 1,000 1,000 0

01 AL EFH S 1,000 1,000 0
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SA: S|
BH: WES IR (SIX)
@2 J|2&4l
_ - ) 4
A EB B (BH) - NRAY - BHES 0l & o4 it on
o

o8y g=2xa 1o
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N & 0l & At

g & M A

20158 &= 20 A LEHS|H LAS ~ KIAHAH
Xl AFH
NAFH EHXAX WERA 25
KAFH SHA™EAHH A 25 )
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[} 250,499 235,749 14,750
FH X WERZA 25 199,675 179,075 20,600
KIAFS! S E AU~ 23t 199,675 179,075 20,600
HHANH A 229 64,975 65,175 A 200
201 et d| 64,375 64,575 A 200
01 AR 22l ] 12,175 12,075 100
OFIIZEME L AME =2 400,000 42 0| 1,600
OAIR2127] 89 A2E ¢ 500,000 x12& 6,000
OJIEtAFR 22| ] 4 575
02 E2=2=24%H| 52,200 52,500 A 300
OBANLE 200,000 *53] 1,000
OMRA JIIR=2 500,000& x12& 6,000
OJzs dMIIR23 2,400,000%12& 28,800
OXSHHIAIE A2 100,000& x12& 1,200
Ofsl+E 22 400
OREEUSAES 200
ORHE2 ¥s52=2 200,000 x12& 2,400
OAR A 20 4,000
OFAI HIIGHEEA =22 100, 000& =23 200
OAE8S2 A2 5,000
O=Z2xaa 89 3,000
301 et A= 600 600 0
09 HAIAHI EAZ 600 600 0
OZHLYHG & 25 &AL =& 600
F0lmHol MetstA M 5,700 9,900 N4 ,200
101 Q124 H] 3,500 7,700 N4,200
04 JI2ZtHIZ22NEE S 3,500 7,700 N4 ,200
OodldZEHID] o1 100, 000 & x5 «4 3| 2,000
OSHz L AtzHZ2 2tp2| ol el
100, 000 & x5 «33] 1,500
206 24 1,000 1,000 0
01 X2 8| 1,000 1,000 0]
Oste&el Mg 2 1,000
301 Bt A= 1,200 1,200 0
11 JIEtE A2 1,200 1,200 0
OAME (9d , =2dH )220 BAZ
50,000 x2H x123] 1,200
Moo F=2l=2 & 99,000 84,000 15,000
201 et d| 4,000 4,000 0




M XAH
M AAME HFOHUX WERD 2=
SH X

Ehelr XIAHH S A 25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 4,000 4,000 0
OXaioed & =72 HH gX= 4,000
401 AIEHI L 2] 95,000 80,000 15,000
01 A& Bl 94,136 79,136 15,000
OTHol Ol & =0l = 3 AL 0 0
O otMETHCCTV & X 15,000
OXIAL 20|08 s2 ZEAY
10,000, 000& %98.92% 9,892
OXIAL CHEOIS etz HHlIAY
10,000, 000& %98.92% 9,892
O38 3= s2 ZFAY
10,000, 000& %98.92% 9,892
OHE s2 ZEAMY 10,000, 000& %98.92% 9,892
OgHitE 2+2 FHIAE
10,000, 000& %98.92% 9,892
Oa=08 s2 ZFAMY
10,000, 000& %98.92% 9,892
O 2tz 52 ZTHEAMY
10,000, 000& %98.92% 9,892
O=SE 2SS =2 FHIAL
10,000, 000& %98.92% 9,892
03 AlZ 2 THHI 864 864 0
OMololg FRl=JAS 864
22 THOH Ol 30,000 20,000 10,000
401 Al HIZ 201 8] 30,000 20,000 10,000
01 A& HI 29,676 19,784 9,892
OLA2 THOH Ol AL 30,000,000%98.92% 29,676
03 AIE 2 THHI 324 216 108
OL72 THOH Ol AL 30,000,000%1.08% 324
HEY2FZHI (KAL) 50,824 56,674 A5,850
Jl2 &3l 50,824 56,674 A5,850
KA Jl=Z | 50,824 56,674 A5,850
201 £B-2d| 14,664 20,514 25,850
01 At 22l 11,664 17,514 A5,850
Oogd gR=d 9,414
OgE YRFX(SHI) 2,250
02 =24l 3,000 3,000 0
OEAMKA &L 2l 3,000
202 o4dl 25,080 25,080 0
01 = LH 4 1l 2,880 2,880 0
Ogd gR=x=d 2,880
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SA: XA
M AHSAAH (X A)
Se: I =l

SA-EY .S (BH) - NEANY - BES 0 4t 04 il

02 EHN Y| 22,200 22,200
OHE 200,000& x1H x12& 2,400
O8HZE 0olat 150,000& x11H x12& 19,800

203 ¥R =&H| 10,080 10,080

01 J|2A2HLR=AH| 6,600 6,600
oJ|a249 6,600

02 HRJAE R =&Y 480 480
O3 Itat 480

04 ENSIHRE=Y| 3,000 3,000
hey 3,000

405 XH&HF S HI 1,000 1,000

01 AL 2B F SHI 1,000 1,000
OHE g2FA 1,000
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